= 0.2 -
8 5ok L
= E ) E :
A O.15E et e Z0.15F oo et oo e
S o © E :
i < Eoriideeaes P S R
VL R v O :
0.05f-+++-werieery 0.05fwwreemierees oofefiop oo o
Of«+oeeeerines R S Froooeeees
=0.05F--------o-1-e —0.0Bf- - eereeteeenen b b L
—0.QF et O 0 0 (RS TR
~0.ABf i i V| SERRRIRR R L SRR
9_02: 1 |||||||! L o du] 1 | EEERTIT 9_02-1-__-":-:-:-:-:-“-:!-":- abd] :I”.‘.._I"!....I..I..I.I.I.I:I
E 1._0-0 + b i E r T
x N Y USSR N 45 K300 L
r * r 4+ o "E
0'5:_ -------------------------------- 06:_"h o 1 O Y R Y Y O,

—1 2 3 2 3
10 1 TPlpoT (PCA t%obeamlinélf) TPlpoT (PCA t%obeamlinélf)
—s=— DQM_mkFit_baseline_lowPT
—e— DQM_mkKFit_baseline6iter_lowPT
—— DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3_lowPT

= 100p = 5 5
= N = . B
A 8Ot p e e A : :
c? C =) o+ B RTEETPRE
© B0 et e e o | T
v r % T
40+ IR IRt O LN L | IR
+ ------------ . . T 2 ............
—40f -  SETRURRS (Y PCRPRCIRRS C
IR L i 1 aahul] L | e e Al L
8 ]__— ---------------- -+t -o-o*-n-cr“ +- - g B "‘" 1
© 5 . : < |+ {4+ .
@ + B 1 @ :
0.8 ---uuruniennie E 1 SEEEPEPRRR :
s T e : R T
-1 2 3 -1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f) 10 ! TPlp?T (PCA tjbobeamliné'f)

o
> : :
- . .
AN A - T
- H N
Q (A1 N T TR I R
= .
o : ¥
o [ N 0 B i B FARRRREEE R
v N
P Y R R
HE )
. *
U O E I I O
E 3
; -+
.;g.. B
FI T :
1 1 A I R [ ) COR
.......... . N N

4 4
L LT
_ : ¥ ]

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


